ESE7S
RHE | FAig | BAE | BE | 25 AT | A& | A% | Hith
ER | TR | B8R | 8K | 8K | BIE | B | BIS | (FE | BRE | ER | BER | Hitt 5] 173
BF &2 BRI | 4 ER | &R | SA | M | B8 | 2A | 2R | %A | kA | #A3 | 2R [(F2 | BR BE | %‘T
E |# Bl Bl [Bl| S2%5 ES ES Z2 | BE|EE| & ES ES ES ES £ | D) | BEE | Dhat | AB | AK
=t 7 0| 16| 23 0 0 0 0 0 0 1 0 0| 47 0 1
—FREGE
108| 2\itiRE % |21 |B |BREREK) 11 ol o o o o o o o o o 1 0
R R
108| 2[BIXE% |B4H B |& 1 0 0 0 0 0 0 0 0 0 0 0 1 0 0
108| 2B E R |B13t (& [Hmiass 0 0 1 0 0 0 0 0 0 0 0 1 0
EEEE
108| 2|% B431 |5 |HMthEBE 0 0 0 1 0 0 0 0 0 0 0 1 0
REIEE —REGE
108| 2|:EBMEE B4 B |RERE) oo o 1 o o o o o o o o 1 0
IR e
ANERE —MmAGGE
108| 2|BEB%  |B1H B |BERE) oo o 1 o o o o o o o o 1 0
IR B
ANERE —MmAGGE
108| 2|BEB% |24 % |[BERE) oo o o 1 o o o o o o o 1 0
BEIEE —REGE
108| 2|% 243 ¢ |[BERK) oo o 1 o o o o o o o o 1 0
—FREGE
108| 2|E®%E%  |B1H B |[RERE) 11 o o 1 o o o o o o o 2 0
108 2|F#EB % |B131 (B [Hmiasst 1 0 0 0 0 0 0 0 0 0 0 1 0
—FREGE
108| 2|E®%E%  |B4H % |[RERE) oo o o 2/ o o o o o o 1 3 0
108| 2|FoEBiZ  |B131 (B [Hmiass 0 0 0 1 0 0 0 0 0 0 0 1 0
B v L]
108| 2|% B431 | |HMtEBE 0 0 0 2 0 0 0 0 0 0 0 2 0
B v L]
108| 2|% B3t | |HthEEBE 0 0 1 0 0 0 0 0 0 0 0 1 0
NEERE —REGE
108| 2|REEZ  |B1H |B |BERE) oo o o 1 o o o o o o o 1 0
NEERE
108| 2|XEEEZ  |B43F (& |HMEEEE 0 0 0 1 0 0 0 0 0 0 0 1 0
NGESG=!
JEEIGREES —MmAGGE
108| 2|% 243 |8 |[BERK) oo o 1 1 o o o o o o o 2 0
108| 2|EmAlEx |51t (B [HEmiasst 0 0 0 1 0 0 0 0 0 0 0 1 0
—FREGE
108| 2|4mRIB% |BLH % |[BERE) oo o 3 o o o o o o o o 3 0
—FREGE
108 2\iERRIE % |BLH |8 |RERE) 2l ol o o o o o o o o o 2 0
—FREGE
108| 2|¥BE%  |B1H B |RERE) oo o 1 o o o o o o o o 1 1
108| 2|MEZ  |B131 (B [Hmiass 0 0 0 1 0 0 0 0 0 0 0 1 0
S 2= —REGE
108| 2|% 243 |8 |BERK) 11 o 1 1 o o o o o o o 3 0
= T2 —REGE
108| 2|% 243 ¢ |[BERK) oo o 1 o o o o o o o o 1 0
—FREGE
108| 2|BEB%  |B1H B |[BERE) oo o 2/ 4 o o o o o o o 6 0
108| 2|EHE % R A E S 0 0 0 1 0 0 0 0 0 0 0 1 0
—FREGE
108| 2|BEB%  |BLH % |[BERE) oo o 1 o o o o o o o o 1 0
PR = G
108| 2|% B43 |8 |E 0 0 0 2 0 0 0 0 0 0 0 2 0
—FREGE
108| 2|8  |B4H % |[RERE) oo o 1 1 o o o o o o o 2 0
TEEEE
108| 2|% B3t | |HEthEBE 0 0 0 1 0 0 0 0 0 0 0 1 0




